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THREEZRERRICERERSROIERERRSE TREFAZLTLEY,
FERENMNEMICHOTEH, RRICEATHEWGE(E, BRZAETIAQKICEAYVEER A,
Z0=6 BROFER. AQ-HFEBATAFTRIZGDBENHYFT A REIFT X JELTEYFET,

BT £ A0 1B Bt 18R i BE | HEE | EE
e 356 2 164 2 192 0 162 2
FLHT 193 -4 92 -1 101 -3 86 -3
ESHT 110 0 42 0 68 0 50 0
KEH 28 0 13 0 15 0 10 0
NER) 24 0 8 0 16 0 7 0
AR 155 2 67 0 88 2 62 1
=1 40 0 8 0 32 0 2 0
78 L ET 377 6 210 3 167 3 235 4
EHT 5 0 4 0 1 0 6 0
& HT 190 -5 74 -3 116 -2 62 -2
EEHT 161 6 72 4 89 2 81 3
AT 189 -2 99 -2 90 0 110 —1
AHT 205 0 99 0 106 0 95 0
2 EHT 372 —4 208 -1 164 -3 213 -3
FET 59 0 24 0 35 0 36 0
18 faET 83 3 34 1 49 2 41 2
ESHT 109 -2 52 -1 57 -1 60 -2
—&T 0 0 0 0 0 0 0 0
NET 118 -1 57 —1 61 0 50 -1
t&ET 137 1 64 1 73 0 58 0
INET 70 0 36 0 34 0 30 0
NET 182 -1 76 —1 106 0 85 1
+&T 212 -3 86 -3 126 0 108 -2
35k Fe T 357 0 159 0 198 0 166 1
5iEET 3,037 -14 1459  -11 1578 -3 1,316 2
EFAET 3,848 26 1,875 14 1,973 12 1,654 16
Ed=1:] 1,695 4 826 5 869 -1 674 5
ohEHT 1,661 5 891 7 770 -2 902 14
FrH AT 635 4 292 1 343 3 232 5
H #THT 3,662 12 1,796 0 1,866 12 1,716 5
Lid6 BT 2,959 -9 1,445 -6 1,514 -3 1,259 -2
¥R BT 2,766 36 1,354 13 1412 23 1,021 11
JIIFEET AL 4537 -33 2,215 -18 2,322 -15 1,979 -5
JIIFE BT F 2,149 —4 1,043 0 1,106 —4 836 1
ARKHET 9,046 -60 4,386 -30 4660 -30 3,823 -21
=&HT 3874 -35 1,858 -15 2016] -20 1,659 -1
[ FH AT 1,435  -12 734 -7 701 -5 629 —4
AR EFRT 8 — 2562] -24 1,205 -13 1,357 —11 977 1
EREFET R 5 2,048 11 995 3 1,053 8 844 6
EREFRT PR 5 642 -5 320 -2 322 -3 264 0
& K BT 5552 -13 2,637 -13 2,915 0 2,132 1
R F0ET 282 8 273 5 9 3 274 5
EE 3] 4 0 8 0 x 0 4 0
EXRE—TH 353 -2 190 -2 163 0 184 0




EXLRETZTH 257 103 154 130
EXLRET=TH 0 0 0 0
ELRETMETH 0 0 0 0
EXLRETETH 213 105 108 88
LtEE 0 0 0 0
TEET—TH 282 131 151 135
TER=TH 563 252 311 283
TEET=TH 230 104 126 95
BEBRI—TH 437 206 231 224
WRERT—TH 543 242 301 263
WERI=TH 225 98 127 131
fE{EFET—TH 322 165 157 144
fEMEFTET =T B 404 200 204 214
JEFELUET—TH 128 56 72 63
LFELET=TH 329 161 168 172
AR —TH 256 125 131 160
AR ZTH 441 219 222 237
=B—TH 121 58 63 57
ERT_TH 231 108 123 121
[ [ ih 159 80 79 123
BT —TH 186 84 102 93 2
BRI —TH 406 203 203 184 0
hRFEI—TH 562 254 308 255 2
hEFEI=TH 443 213 230 186 -1
FFEI=TH 695 325 370 307 0
hRFETE T B 386 186 200 195 0
FFETRTH 613 284 329 239 1
FEEI—TH 205 115 90 105 4
¥ERT—TH 296 165 131 170 -3
AEERT—TH 374 186 188 202 0
BiEEI=TH 291 138 153 134 0
IERIT—TH 131 73 58 69 1
IERAI=TH 505 242 263 234 —4
EREI=TH 513 275 238 271 3
IERITMTH 198 98 100 101 -2
ERTATH 564 263 301 306 -1
KimBI—TH 312 155 157 0 131 2
XA —TH 159 80 79 0 84 0
KFEH—TH 98 41 57 0 60 0
RKFEHZTH 4 0 4 0 4 0
KFH=TH 124 71 53 0 57 0
TZEETE—TH 672 332 340 2 262 2
THREEZTH 342 153 189 2 131 1
TEFETE=TH 632 308 324 1 240 4
TEFETAEETH 593 274 319 4 263 4
TEEEATH 709 341 368 -1 329 4
T EFETFEANTH 512 255 257 1 251 1
TEFETEETH 661 340 321 0 368 0
T EFETFE/NTH 631 292 339 2 280 4
TZETE—TH 1,344 627 717 -7 638 2
TEMEZTH 370 193 1 177 -1 170 -1
TZHRETERE=TH 638 311 3 327 2 271 3
TZETRMTH 941 425 3 516 -3 433 4
TZREEATH 891 479 0 412 3 487 3
T ZRETRNTH 565 277 4 288 4 284 4
TZRETEETH 1,653 738 -11 815 -3 767 -2
TZETE/\TH 1,091 507 2 584 -3 599 2
TZRETEATH 334 181 2 153 0 176 1
T EETdE—TH 94 54 -2 40 -2 79 -2




T2ETAL—TH 98 1 63 0 35 1 82 1
I\ &t 81,356 -158| 39,564| -94| 41,792 -64| 36,331 56
AERZE 76 0 31 0 45 0 55 0
AEHTH 50 -2 26 0 24 -2 27 -1
AERTHRA 4 0 1 0 3 0 5 0
A ERT/MR 80 0 38 0 42 0 35 0
AEBTKE 1 0 1 0 0 0 1 0
AEHET{EH 30 0 16 0 14 0 13 0
AERRE 1 0 2 0 X 0 1 0
AERTA /R 7 0 3 0 4 0 6 0
48 7 0 2 0 5 0 6 0
AEMXEST 256 -2 120 0 136 -2 149 -1
LERTIA 23 0 13 0 10 0 14 0
LERTINE 33 2 12 1 21 1 25 1
LERTE Dk 23 0 10 0 13 0 14 0
=T 9 0 4 0 5 0 10 0
LERFXR 35 0 14 0 21 0 25 0
LEBTHH 9 0 5 0 4 0 10 0
N=T3: 15 0 9 0 6 0 9 0
LER/NMNEE 29 0 16 0 13 0 12 0
F B 13 -1 10 0 3 -1 11 -1
LB XER 189 1 93 1 96 0 130 0
BUEER &5 445 -1 213 1 232 -2 279 -1
AT E 1,155 3 551 1 604 2 473 2
EHETFEAT 643 -7 282 -2 361 -5 219 -1
EHBTM AR 1,098 —4 540 0 558 —4 417 1
BT E A 1,074 -7 516 -5 558 -2 405 0
BMETERER 1,312 1 638 0 674 1 394 1
BIETERE 1,105 3 522 3 583 0 445 4
BIETE A 3,717 -8 1,788 -2 1,929 -6 1,490 -6
B X EE 10,104 -19 4,837 -5 5,267 -14 3,843 1
B LLIET F3RE3F 1,737 -7 812 —4 925 -3 638 -3
tRILBT T EZEF 2,456 -7 1,173 -9 1,283 2 963 -2
AR LLIBT S /M 1,809 -3 901 0 908 -3 749 0
R ILRT AR T 1,609 -9 796 -3 813 -6 626 0
B LIRT E B 1,286 —4 619 -7 667 3 505 2
R LLATIIR 2,282 —4 1,104 -5 1,178 1 888 3
R ILRTER R IT 4,761 -5 2,340 3 2,421 -8 2,049 18
ERILH X 5T 15940 -39| 7,745 -25| 8,195 14| 6,418 18
= it 107,845 -217| 52,359 -123| 55,486 -94| 46,871 74




